fmmm AT B S AN EX

8 2F, lRCBR: S3, fZi&: P001-1 [A:53,Y2:340]; R < [BR A #%]:670.00 * 55.00 cm ;[BR/MR]:670.00 * 55.00 cm; ki

E:20cm
[FR3i8 (B0 + [ $2-1ER]48*2)*(Round

#A CEEZ ARG LE-EB=( ( 55/17)+1)/100= 30.64 M
= (U8 (80| +[45 - HE f81]48*2)*(Round
( (
( (

670/17)+1)1100= 60.40 M
55/17)+1)/100= 30.64 M
670/17)+1)1100= 60.40 M

=

#A EEB SN EN LE- 8
# EEFESARE T E-8R= (KEBARO)]+[#E#E-EH]48*2)*(Round
i [J& 38 (BR/0N ) +[#E $2-2E f]48*2)*(Round
T

#HEEHSNERTE- 81
HITEH (BB EM)EX RE(—MHAR): 10*2+(20-6)*2+10 =58.00 cm
FEEMBEE: Int(670/100)= 6 1T
K EHEE: Int(55/100)= 0 3l
T {Efi#K: 58.00*6*0/100= 0.00 M
#IRREE KT X IETESH(TRIRENMIEZA):
RE#EK: 55.00%(ceiling(670.00/200)+1)= 275.00 cm
EE# KR 670.00%(ceiling(55.00/200)+1)= 1340.00 cm
IRRERE LIS EITESER: (275.00+1340.00)/100= 16.15 M
R MR 2 FIDECKAR, R AR A L R 51 DECKIRB BN B 1T5HE
DECKKRE 25T &:
& :670.0*55.0 = 3.68 M2
#E:DECKARE AT E ER MR AN
DECKHRM51:3.68-[F8 0]0.00-[AR K & 32 $-DECK A #1]0.00= 3.68 M2
RC:E&:
[DECKARRCET =120\ #£]670.0*55.0/ 10000 *20/100= 0.737 M3
RC/IN&t:0.737-[iR B8 A RC]0.000=0.737 M3
-------------- FTERER P
MR ETE AR E O L FIINRE): (B8 O 41:0.00)
#3=16.15 M*(1-0.0000)=16.15 M (16.15 M*0.560/1000= 0.0090 T)
#4=182.08 M*(1-0.0000)=182.08 M (182.08 M*0.994/1000= 0.1810 T)
/D EH(EEFH+HEEH) =0190 T
HRR/NET = 0.00 M2
DECKHR/INT = 3.68 M2
BT /NEH=0.737 M3
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